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Star's life: Protre
pressure iy
gravity -<—

1cted

Ocll

MOSTLY ALWAYS

'tle witn gravity

To support weight:
= need high pressure

= need high temperature
= will loose energy

= need energy source:
: Grawtatlonal contraction
- Nuclear fusion

Ultimately,

Can something else than
thermal pressure balance
gravity?



Evolutionary
tracks:

what happens
depends on
mass
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Pols et al., 1995,
MNRAS, 274, 964



Distance
magnitudes
Doppler shift
Gravity & tides

Kepler

Virial Theorem

|deal gas
Degenerate gas

Photon propagation
Black body
Hydrostatic eq.

Radiative transfer

Timescales

Hydrogen fusion

Hydrogen atom

d [pc]=1/xn [arcsec]
m=C—-2.5logf,
AN _ V ad

m,—m,=—2.5log(f,/f,); M—m=5-5logd

275 3, a VvV

GM=Q%*a’= a’: =1
a v

En=—2E,0; Eq=Ewm+Eo==E
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=—2- for circular orbit, v=
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E=mc?;

GM °IR

p-p start withp+p->D+e*+v,;
CNO catalyst, start with “C+p>"N+y

E =-13.6eV/n?
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